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SN - EH . S(3) - MRAY - BES Ofl &k 04 o s HlmE 2
206 M= dl = 19,579 13,880 5,699
Al 34,642 32,200 2,442
01 MZ8l 54,221 46,080 8,141
OXFUSZAUT 252 9d| 8,141 0 8,141
[ 5,699 0 5,699
Al 2,442 0 2,442
43,900 44,000 A100
AAFQY AR 25} s 29,000 29,000 0
Al 14,900 15,000 A100
43,900 44,000 A100
SAMER Y 2R(=21) s 29,000 29,000 0
Al 14,900 15,000 2100
202 OdHl 900 1,000 A100
01 2oLl 900 1,000 A100
O=&tz |4t HHl(22=) 900 1,000 A100
609,950 521,600 88,350
= 239,220 235,220 4,000
€ Asad = 61,905 46,460 15,445
Al 308,825 239,920 68,905
ASEME SHX 104,900 117,000 A12,100
202 OdHl 900 1,000 A100
01 =2UobI 900 1,000 A100
OFdE8 BHE 22, AHISH X &5
HHl(BZ=) 900 1,000 A100
307 QI2toIA 101,000 113,000 12,000
02 QItHAEX 101,000 113,000 A12,000
Ost*E-#E =ItZZHl OIUXE(B2LE) 57,000 63,000 26,000
OSAMSB-E HAlgl S &I N3 (2L
) 17,000 20,000 A3,000
OFAMEBHE 28, AMHIEN A (2L
) 27,000 30,000 23,000
31,100 50,000 18,900
HHME =A2 TEANW XA (EH]) & 12,440 20,000 AT,560
Al 18,660 30,000 A11,340
307 QIZ2t0IA 31,100 50,000 218,900
& 12,440 20,000 AT,560
Al 18,660 30,000 211,340
02 QItFAEX 31,100 50,000 218,900
OBdE &g ZEW N 31,100 50,000 218,900
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Al 43,456 0
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Al 43,456 0
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[ 18,624 0
Al 43,456 0
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Al 7,889 0
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= 4,000 0
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M sFLHL
M S FYH Zat
Bl JE AISDIBE M 2Et (&)
SNBSS - HRAY - BHES 0 & o4 plELT HIRZE2
gI2toI 726,800 0 726,800
< 726,800 0 726,800
QItAAE L 726,800 0 726,800
OMsE 2= WHAY 726,800 0 726,800
& 726,800 0 726,800
168,000 0 168,000
A MAF EBHEH XK (EH]) = 112,000 0 112,000
Al 56,000 0 56,000
QI2tx=01d 168,000 0 168,000
< 112,000 0 112,000
Al 56,000 0 56,000
QrZttE 2 X 168,000 0 168,000
OXAtS ML ESH X2 AHY 168,000 0 168,000
S 112,000 0 112,000
Al 56,000 0 56,000
150,211 155,649 Ab5,438
MAHD| B Bt= LS 18,218 15,278 2,940
Al 131,993 140,371 A8,378
19,220 24,000 A4,780
AZE=SII0H TAIR MASS(ZH|) = 4,270 4,800 A530
Al 14,950 19,200 AN4,250
glztold 19,220 24,000 24,780
= 4,270 4,800 A530
Al 14,950 19,200 A4,250
It & e X 19,220 24,000 A4,780
OZEsIt g 2ME datRsS N3 ALY 19,220 24,000 A4,780
& 4,270 4,800 2530
Al 14,950 19,200 A4,250
Zr= THbH 30,000 15,000 15,000
4 gl2ti=01d 30,000 15,000 15,000
Qb= 30,000 15,000 15,000
OAZ XS AL 30,000 15,000 15,000
67,511 94,729 N27,218
2 MAFEH| (S HI) L= 9,710 9,710 0
Al 57,801 85,019 N27,218
glzZtXt=01d 67,511 94,729 N27,218
S 9,710 9,710 0
Al 57,801 85,019 N27,218




SN sEA
M =AY 23t
Sl XALZ MAD|BE BE EEREE)
SH -2 (3H) - HREAS - BES Ofl Ak oH 7 fes el Hns2
01 YAREEX 67,511 94,729 A27,218
OXALE MARH| X2 ALY 67,511 94,729 N27,218
= 9,710 9,710 0
Al 57,801 85,019 A27,218
11,560 0 11,560
ZESIHAHNZTMERUR A (ZH]) = 3,470 0 3,470
Al 8,090 0 8,090
307 QI2t0I A 11,560 0 11,560
[ 3,470 0 3,470
Al 8,090 0 8,090
02 QIZtHAEZ 11,560 0 11,560
OAESIICH ZALZ UH| KRAY 11,560 0 11,560
< 3,470 0 3,470
Al 8,090 0 8,090
SN2 MR 29,747 31,047 A1,300
=02 MZEAI(KHA) 29,747 31,047 A 1,300
201 LUpt2 | 7,750 10,050 A2,300
01 At222lH| 7,750 10,050 2,300
OFMZ2 HUX S QMDS DI HXH(E
22) 3,300 5,600 A2,300
202 04t 4,500 3,500 1,000
01 =2Ui0iHI 4,500 3,500 1,000
OZMS AMXEA &= o] 1,000 0 1,000
HNYSAAH| (S=AD) 4,132,550 4,063,314 69,236
NEREEL 3,958,715 3,890,486 68,229
e 3,958,715 3,890,486 68,229
101 @124t 3,724,395 3,673,466 50,929
01 J1=2 2,231,673 2,211,450 20,223
o=z 2,093,457 2,073,234 20,223
-73 262,907 242 684 20,223
02 g 528,238 519,532 8,706
O=E4g 65,088 60,342 4,746
OFII2E ¢ 75,240 71,280 3,960
—20E10/ & ~ 25140| 0 15,840 11,880 3,960
03 HUZAH| 150,840 138,840 12,000
OFHBAI 150,840 138,840 12,000
04 WELXH| 145,600 135,600 10,000
OnEH 145,600 135,600 10,000
-6~72, NEAf 91,120 81,120 10,000
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